%26 @Q@QFIRATNT77@@
T ADIETMPBELID 9-4-3 HOME®R (1) ~ (3) 2%, 9-3-2 i
725 ONZ 9-3-3 i T
BNERE KT DI EEMERBLTAL D,

KIZRd 91, ofii bOCREZBDEHREIGCTHEDORSEZ G, G &
T5, £/, HEEDOD &, D &, Q8005 o #lliZ T L7 E o il &
DRR%E, TNENE, F, HE7T5%,

EH
‘—-‘* — ‘7
@fki' o
. *wT)
"""" D[":_ fl,?

(1) Q ROMEFEOHEMUEFEQHIZ, KIIWIRA TSNS,
OH = 0C + CH = 0C + CQcos( £QCA)
= 0C + CQcos(26,, — 26) = 0C + CQcos(26,, — 26)
= 0C + CQ(c0s20,,c0s20 + sin26,5in20)
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C+CD (ﬁ cos20 + ﬁsin29> = OC + CEcos26 + DEsin26

— 1__ — 1 1
= 0C + 5 EFcos20 + DEsin20 = 5 (0 +0y) + 3 (05 — 0)c0526 + 1, 5in26
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QH = CQsin(26,, — 26) = CD(sin26,,cos260 — cos206,sin20)

__(DE CE
= CD|==co0s20 — =sin26
CDh CD

1
DEcos26 — CEsin26 = T,,c0s26 — ( —0,)sin20 =t
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OA=0C+CA=0C+CD=0C+ /(ﬁ)2+(ﬁ)2
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= %(O‘x +0,)+ \/{% (ox — ay)} + Tyy?
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(O'x + ay) +- \/(ax ay)z +41,% =0y

OB=0C—-CB=0C—-CD= (O'x-i-O'y) \/(ax ay) +41,,2 = 0,
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oD = V7 + @7 =1 (0 - 0,)" + 41,7 = 1,
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sin(ZGniE) tcos20, _ F1 __ —0x—0
tanZHt = tan2 (en i 71'/4) - cos(zenig) = Fsin26, - tan26, =+ eryy
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